Answer on Question #72508, Math / Differential Equations.
Task. y=27x.sin(tanx).dy/dx.

Solution.
. dy s
1) We find ™ where y=2"sin(tan x) .
X
So,

% =(2*sin(tanx)) =(2") sin(tan )+ 2* sintan x)) =

= 2"In2sin(tan x) + 2" cos(tan x) (tan x)' = 2"In 2sin(tan x) + 2* cos(tan x) ——.
COS” X

Answer: dy = 2"In 2sin(tan x) + 2* cos(tan x) ——.
dx COS* X

2) We find the general solution of the equation y=2"sin(tan x)%.
X

So,

dy dx

y  2*sin(tanx)’
Id_yz jd—x
y J2%sin(tanx)’
dx
ny={—>__,
y J.2Xsin(tan X)

J' dx

y=e 2% sin(tan x)

dx
Answer: y = ejzXS‘”“a“X) :



